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&5 X 4 .(sr;n‘c; Tlﬁﬁﬁ(z)a)ﬁﬁﬁﬁ 7‘3(:;%1%)3 X 4 'Fmﬁié%l;g)n;k:F .Z,n‘c; jj(l((]l?l?(m%)é X 4 .(Er,n‘c; J:lﬁﬁ?ﬁ(z)a)ttra 7‘3(:;%1%)3 X 4 J:Jffﬁ?ﬁ(z)a)ttra .Z,n‘c; jj(gfrf)é
P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 417 52.20 | =ndst | 0oo ~ 417|203 10.24 st 1.00 | 6.00 ~ 5.00 52.20 | #hst | 5,00 ~ 6.00)| 2.03 10.24
2 100kN/mM%E 25| 1.00 | 000 ~ 204 131.49 |3mZE#BRB| — ~ — — — | 100kN/mM%E#%25 | 1.00 | 1058 ~ 1875 131.49 |3mE#BZ5 - ~ — — —
zhst 1.00 | 204 ~ 982 100.00 | Ths o000 ~ 982|232 11.74 zhst 1.00 | 6,00 ~ 1058 100.00 | ZhLS | 5,00 ~ 1875| 2.52 11.74
3 100kN/m%E#B25 | 1.00| 000 ~ 248| 13884 |3mz#B25| — ~ — — — | 100kN/mM%x#%25 | 1.00 | 1063 ~ 2265 13884 |3mE#BZb - ~ — — —
FhLst 1.00 | 248 ~ 1026 100.00 | NS | 0.00 ~ 1026| 2.62 13.26 st 1.00 | 6.00 ~ 1063 100.00| FnLS | 6.00 ~ 2265| 2.62 13.26
4 100kN/m%x#z25| 1.00 | 000 ~ 255| 139.99 |3mZz#Ez3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1094 ~ 2665 139.99 |3mE#BZD - ~ — — —
s 1.00 | 265 ~ 1033 100.00 | 0S| 0.00 ~ 1033 2.87 14.560 ThList 1.00 | 5.00 ~ 1094 100.00 | =4t | 6,00 ~ 2665| 2.87 14.50
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.58| 124.07 |3mZ#Bz3| — ~ — — — | 100kN/M%#82% | 1.00 | 11.61 ~ 19.81 124.07 |3m%EiBZ 5 - ~ — — —
s 1.00 | 1.58 ~ 9.36 100.00 | #nLst | 0oo ~ 936 216 10.92 ThList 1.00 | 5.00 ~ 1161 100.00 | =nhst | 6,00 ~ 1981 216 10.92
6 100kN/m%#8z5| 1.00 | 000 ~ 1.20| 11810 |3mZz#Bz3| — ~ — — — | 100kN/m%#82% | .00 | 11.66 ~ 1716 11810 |3m%E#BZ25% - ~ — — —
FhLst 1.00 | 1.20 ~ 898 100.00 | #hst | 000 ~ 898| 2.16 10.90 FhLst 1.00 | 6.00 ~ 1166 100.00 | =hst | 6,00 ~ 1716 216 10.90
7 100kN/m%E#B25| 1.00| 000 ~ 1.19| 11803 |3mZz#Bz25| — ~ — — — | 100kN/MZ#8Z2% | 1.00 | 11.38 ~ 1641 11803 |3mZ#BZD - ~ — — —
FhLst 100|119 ~ 898 100.00 | #nLlst | 000 ~ 898\ 2.18 11.03 zhLst 1.00 | 6.00 ~ 1138 100.00| FnLs5 | .00 ~ 1641| 2.18 11.03
P 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.77 59.40 | =nst | 0.oo ~ 0.00| 1.69 8.66 FhLst 1.00 | 6.00 ~ 5.00 59.40 | =hst | 5,00 ~ 6.00)| 1.69 856
9 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 7.41 94.51 | =St | 000 ~ o0.00| 1.76 8.90 ThList 1.00 | 5.00 ~ 9.60 94.51 | #hLS | 5,00 ~ 960 1.76 8.90
10 100kN/m%E#8z5 | 1.00 | 000 ~ 032 104.65 |3mZ#Bz3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1053 ~ 11.38| 104.65 |3mE#BZ5b - ~ — — —
s 1.00 | 032 ~ 810 100.00 | =nLst | 0oo ~ 810|219 11.08 ThList 1.00 | 5.00 ~ 1053 100.00 | =nhst | 6.00 ~ 1138 219 11.08
11 100kN/m%E#8z5 | 1.00 | 000 ~ 032 104.65 |3mZ#BZ3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1053 ~ 11.38| 104.65 |3mE#BZ5 - ~ — — —
FhLst 1.00 1032 ~ 810 100.00 | =hst (000 ~ 810|219 11.08 FhLst 1.00 | 6.00 ~ 1053 100.00 | #hst | 6.00 ~ 1138 219 11.08
19 100kN/m%E#B25 | 1.00| 000 ~ 1.49| 12277 |3mZz#BZB| — ~ — — — | 100kN/mM%E#%25 | 1.00 | 1069 ~ 1556 12277 |3mE#BZD - ~ — — —
FhLst 100|149 ~ 9.28 100.00 | #nLlst | 000 ~ 928|228 11.62 ThLst 1.00 | 6.00 ~ 1069 100.00| FnLS | 6.00 ~ 1556 2.28 11.62
13 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
Thilst 1.00 | 000 ~ 755 96.569 | ThS | 000 ~ 7.55| 1.90 9.60 ThLst 1.00 | 6.00 ~ 10.38 96.59 | #hst | 5,00 ~ 1038| 1.90 9.60
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




